DCarMaker @

Pe'Si

@[b)@gnrmg uth

I@ﬂ :

(\ NEUTRINO



Edepsim track:
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RICHIE’s identified trajectory:

Particle ID: 8000017 -- TRACK ID:

trajectories[@].Po

Pt L52
pt.GetPosition(}.Z()/1@
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2531473168896

@ - start position (7.63305,-26.1606,63.6512)

-- End position (18.9998,-26.1606,64.538) - ENERGY: 2.44084
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Checked particle: \

NEUTRINO

RICHIE’s identified trajectory:

Particle ID: 8000017 -- TRACK ID: @ - start position (7.63305,-26.1606,63.6512) -- End position (18.9998,-26.1606,64.538) - ENERGY: 2.44084

FLOW FILE for that trajectory: same energy (E_start (in MeV instead of GEV)) but not the same positions (same as edepsim)

filtered data[["vertex id","traj_id","pdg_id","xyz t","xyz_end","E_start"]]

array([(8000017, 6, -13, [ 15.060772, -33.591274, 15.783469], [-192.9501 , 208.19936, 1313.2532 ], 2440.8398)],
dtype={'names': ['vertex id', 'traj id', 'pdg id', 'xyz start', 'xyz end', 'E start'], 'formats': ['<uB8', '<u4', '<i4', ('<f4', (3,)), ('<f4', (3,)), '<f4'], 'offsets’': [8, 16, 112,
8, 88, 32], 'itemsize': 136})
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dg == -13")

kdkdkdkd bbb bbb ddddbbdbdbdbdb bbb bbb b ddd bbb bbb bbb bk bbb bbbk kbbb b b bbb bbbk bbb bbb bbbk

o Row * Instance * mc_traj e * mc_traj p * mc_traj p * mc_traj p * mc_traj p *
kkkkkdkbbbbbbbbbkbbbbbbdb bbb bbb bbb bbb bbb bbb bbb bbb bbb bbbk kbbb bbb bbb bbb kbbb bbbk dk

0 * 150 60771 * 335 91”7 * 157.83447 * ”440 8398 *

MLRECO FILE for that trajectory: same Energy (last column, in MeV) and same position as CAF FILE
— Issue in the position defintiions

filtered data[["truth interaction id","gen id","start point","end point","energy init"]]

array([(8000017, 0, [ 7.633048, -26.1606 , 63.6512 ], [ 18.999794, -26.1606 , 64.538 ], 2440.83984375)],
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